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Question Number : 1 Question Id : 5471143901 Display Question Number : Yes Is Question Mandatory :

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



BFs undergoes partial hydrolysis in water to form

BF; d8&° r8% 20ddhm Bob dB)HH.
Options :
H3BOs only

H:BO: $m(85

(HBO»)3 only
(HBO2)s S5

H;BOs. HBE4

H3;BOs+HF

Question Number : 2 Question Id : 5471143902 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hybridization of phosphorous in PCls is:
PCls&° P88 @) $o8688emcw

Options :

Question Number : 3 Question Id : 5471143903 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The oxidation state of chlorine in IC/ and C/F respectively are:
IC/ 08k CIF o® £68 Gy efistn Jheo SGSmT :

Options :
-1.-1

st

0,0

-1. +1

Question Number : 4 Question Id : 5471143904 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chemical reactions that evolve energy are said to be

#2 oo Tak EFEHTE Stgpi & JSore beodrb.

Options :
exothermic

SIS 5
1LY

endothermic

SRS S5

Decomposition

SDGITEH0
3. %

Electrolysis
%S DFaieasio

Question Number : 5 Question Id : 5471143905 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



[UPAC name of [ N1 (NH3)s )3 [ Co (NO2)s ]2
[ Ni(NHs)s J3 [ Co (NO2)s |2 @) IUPAC 2%
Options :
Hexamine nickel (IT) hexanitro cobaltate (III)
TPEMD8 D86 (1) Trs3E® ErgeS (1)
1.V
Hexanitro cobaltate (IIT) hexamine nickel (II)

renAe° Efarged (M) 2rsmyos 86 (1)

Hexammine nickel (IIT) hexanitro cobalatate (II)

TPeR8 J8S (1) 3esn3Es® S°arges (I0)

Hexammine nickel (IV) hexanitro cobaltate (IV)

TS 986 (IV) s e SdS (IV)

Question Number : 6 Question Id : 5471143906 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Both [Ni (CO)s ] and [Ni (CN)4 |* are diamagnetic. The hybridisation of nickel in
these complexes, respectively are
[Ni (CO)s] 5850 [Ni (CN)s ]* Bodr Zcirdrm@E. HBE° I8 Gy
$505088eEn SBT
Options :
sp’. sp?
sp’. dsp?

2.9

dsp. sp’



dsp”. dsp”

Question Number : 7 Question Id : 5471143907 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The catalyst used in the manufacture of polythene in Ziegler method is
SK588 HE8S® FDHS SirbS® sB@rnod e@yBto
Options :
Titanium tetrachloride + Triphenyl aluminium
1 BerAcho BErEBE + BIIS wergdcho
LR
Titanium tetrachloride + triethyl aluminium

Berdabo BErSBE + (B agS eomghlao
2.

Titanium dioxide

Berdcho Eerg)E

3. %

Titanium isopropoxide

Berdabo o @ars)E

Question Number : 8 Question Id : 5471143908 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is used as a preservative to protect processed food.
Bob =RS® T (@FDT B SPord) BEoSEeRE HoSEEET &HBFATL.

Options :
Sodium Sulphate

Db&Echo ﬁéﬁjt’ﬁ

Saccharin
S in ek



BHT

Sod. Metabisulphite

E&cho Baéan@ﬁ@;,ef
4.9

Question Number : 9 Question Id : 5471143909 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Which of the following elements is not a transition metal?
Bod Soroscod $8585 Shesn 08
Options :
Copper

o=h
1. %

Zink

208
2.9

Iron

26206000

Manganese

SonDH

Question Number : 10 Question Id : 5471143910 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct order of reactivity of the following types of H atom towards radical
substitution is

T8ES (H5Hes HBore H $88rend) Sorgdod S6GS (Eosm

Options :



allylic > vinylic >1° H
0908 > 9305 >1°H

allylic > 1°H > vinylic

00§ > 1°H > D398

1° H > allylic > vinylic

1°H > «988 > 08

vinylic > allylic > 1° H

DIOE > «dE >1°H
4.9

Question Number : 11 Question Id : 5471143911 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Higher alkanes on heating to high temperature decompose to given lower alkanes.
This process is

088 IS 5§ B& TLIHPDH w6 TRy S TR d&@rKo Toaron.

& (B8
Options :
Pyrolysis
TR

1.+

Isomerisation

mﬁaﬁgéﬁﬁ

Aromatisation

G BRI



Combustion
ALY

Question Number : 12 Question Id : 5471143912 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Anti-Markovnikov addition of HBr 1s not observed in
& (Bod =0&® HBr Gng) dirot-5reS0EsS Hosodo Hindosdsm.
Options :
Propene

55

Butene

a:uv?geg 0

2-Butene

2—;3.395@15

2-Pentene

2-23085

Question Number : 13 Question Id : 5471143913 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The compound that is most reactive towards electrophilic nitration is
J0EHOE JEELesn By wEiod [HEHobod SiyFso
Options :

Toluene

RO

1.V



Benzene

BodS

Benzoic acid

5oé%m§@£§o

Nitrobenzene

eBoLS

Question Number : 14 Question Id : 5471143914 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Elimination reaction follows
Fofod (@OWINAN) S8 BI ©50B808.
Options :
Markonikov’s rule

5’330652,&]555 K lovirahie)

Saytzeff rule
285 davso

Huckel rule

88 Achdo

Kharash rule

P06 WODEDO

Question Number : 15 Question Id : 5471143915 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following is most reactive towards the reaction with CH:MgB1?
CH;MgBr & S585 S8 (Bob >BS 26 o808 écﬁéfﬁﬂé EOA Goénod.

Options :

HCHO
1.V

CHsCHO
CH3;COCH;s;

CH;CH>CHO

Question Number : 16 Question Id : 5471143916 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Ethyl derivative of acetoacetic ester on base hydrolysis gives

oRe® oRBE B30 BE) 5gS a&No 58 ve IFHRE® AGHDHI.

Options :
Propionic acid

EPHEA=E who

Acetic acid and propionic acid

JBE wfho HBH (FPHAEEIE o

Acetic acid and n-butyric acid

DDDE espo b n-xrgeidE efpo

Acetic acid

SDBE eiho

Question Number : 17 Question Id : 5471143917 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The Claisen condensation is often used in preparing

0 SeSrHBEHEoE® THT Boliises SBHre GH@ErAoSREIHR.
Options :

B-hydroxyvlic ester
B-ariee8)08 26

1. %
y-ketoester
y8&* 256
2. %
y-hydroxvlic ester
V- rEg08 236
3. %
p-ketoester
B-3&® %6
4. =

Question Number : 18 Question Id : 5471143918 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Cyanides and isocyanides are isomers
DR by PRI P TR0

Options :
Positional

)
[

Functional

BHach Hrso
2.¢

Tautomer
et 506

3. %



Metamers

IS
4. %

Question Number : 19 Question Id : 5471143919 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following order is correct for reactivity of pyrrole, furan, thiophene
and Benzene

28°5, Tooes, AR Hoatn BodS Sogdod 8 & Bod Bos® DB $BIG

Options :
benzene > pyrrole > thiophene > furan

BodS > S > @ISR > P

1. %
benzene > thiophene > furan > pyrrole
BodS > HAPDS > JooR > PO°S

2. %

benzene > furan > thiophene = pyrrole
BodS > Pooes > BAEDS > &S

3. %
pyvirole > furan > thiophene > benzene
P8°S > Pl > BB PS > BodS

4.9

Question Number : 20 Question Id : 5471143920 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement is false for mass spectroscopy?

SR ?ag{_%ﬂ?:ﬁsﬁaé K020809 Bod &S D6 SKp?

Options :



Mass spectroscopy is used to identify unknown compounds within a sample,
and to elucidate the structure and chemical properties of different molecules

575 YERGS 2.8 S’ BOSHA SalyFarets HBoSEI8 Hbdm I

0N JoYEL0 HOAD BPohHS oo JHbodnrll si@rhodatheéod.

Particle are characterized by their mass to charge ratios (m/z) and relative

abundances

Seren 8 (555078~ oK AYhen (M/z) DB Fof SSyHs®

robodatiaron.

This technique basically studies the effect of ionizing energy on molecule

& FOSEEE P e ©cHIEe I8 [Herard) eiehdo B0k

This technique can be used on all states of matter

& FPoBBESDH Sordo G'inéé_ &) eher R eé{ibvﬁoﬁ:ia’:a{ﬁja.
e o @ [l

Question Number : 21 Question Id : 5471143921 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Joule Thomson coefficient i1s zero at
&S S Heso B HG Do
Options :
Critical temperature

oRe SBS

Inversion temperature

D5 SRPHS

2.9



Absolute temperature

55 aQPS

Equal temperature

5 SRS

Question Number : 22 Question Id : 5471143922 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

BaSOy, crystal is an example for which of the following crystal systems?
BaS0;$)8%0 (B0 $)88 Hged® B8 emvirtes

Options :
Cubic

e \
SoTeE EJ.&
1. %
Monochnic

D% S8

Ortho rhombic

> SEoriyes

Hexagonal

ﬁ&'&éaa

Question Number : 23 Question Id : 5471143923 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following does not lead to adsorption process?

Bod BS* 28 26858 HBHS bdchd

Options :



H> gas in contact with Pt

Hy secs0) Pt 8 Sodgo

1. %

H> gas in contact with Pd
Hyaraind Pd 8° Sos8)0
2.¥
CH:COOH i contact with charcoal
CH3COOH &°rp8® Sosto

Decolourisation of molasses by animal charcoal

2306880 eﬁ“ﬁg TR0 BWERRR G Sorbd Sehodko
4. %

Question Number : 24 Question Id : 5471143924 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The gold number of a few lyophils decreases in the order
5°Q) BRrhE) Gws) G Ko & Eod® Srhdob.

Options :
Starch > Gumarabic > Gelatin

%513 > HSedE > BedS

1. %
Gumarabic > Starch > Gelatin

- HHHE > PG > BodS
Gumarabic > Gelatin > Starch

. HHoAHE > BodS >

None of these

RFATSN)

4. %



Question Number : 25 Question Id : 5471143925 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mathematical statement of Gibbs phase rule is

AS) (Ere Danino @) KBS (BSOS

Options :

F=C=P¥d
LY

C=F-P+2
2. %

C=F-P+1
3. %

P=C+F+2
4. %

Question Number : 26 Question Id : 5471143926 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A molecule returns from the excited singlet state to the ground singlet state with
emission of light. the process is known as

08 &TPE08° o8 vl &B28 Lond 28 Hol g 2ones 288 8o

S00h, & (HBoHd 0LTE.
Options :

Fluorescence

é",.ljﬁa?a%

1.v

Phosphorescence

@*3153565?\:5&

Chemiluminescence

Q&J@é&’b&%ﬁn‘j

3. %



Scattering

BB
4. %

Question Number : 27 Question Id : 5471143927 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the entropy change (in JK! mol ") when 1 mole of ice is converted into
water at 0°C'? (The enthalpy change for the conversion of ice to liquid water is 6.0
kJ mol* at 0°C)

1 3r$ o 0°C s 5 Ddore Sr8355pE dolF'e Sy (JK T mol' &°)

Eorsod.

(S0 (55 DB SrdyEed8 dogrdy &ty 0°C & 6.0 kI mol™)
Options :
20.13

2.013
2.198

21.98
4.9

Question Number : 28 Question Id : 5471143928 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The quantum number which gives the spatial orientation of the orbital with respect
to standard set of coordinate axes is:

(B&ees Esragﬁ;éb: oo Jowofod 55 ) (PA88 BAFTHEN ©obod SKoto

Eﬁoasé:

Options :



Principal quantum number

BRSSP0 Doy

Spin quantum number

)R Sqoe0o Sogyg

Azimuthal quantum number

o2infd sRoo Hogy

Magnetic quantum number

©IDRF)0E 500 KSogy
4.9

Question Number : 29 Question Id : 5471143929 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The number of sp” - s sigima bonds in benzene are
BoBSED sp’ - s ™) 2OTPL D08

Options :

=
3

Question Number : 30 Question Id : 5471143930 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Diels Alder reaction bonds formed are

ééﬂ} @%5 rﬁééé‘s & 2opren B HTOW.

Options :



2 sigma bond 1 pi bond
2 ?‘orﬁg’ 2oPaw 1 @ 20§
1. ¢

1 sigma bond 1 pi bond

1 ?oﬁfg 2oGxn 1 2 wofsm

1 sigima bond 2 pi bond

é”cr'fg 20HW 2 P oG

2 sigma bond 2 pi bond

2 ?\}r\:ﬂé 2oPaw 2 2 oG

Question Number : 31 Question Id : 5471143931 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The pair of compounds which are least soluble in water 1s:

B S K61 SdyFore @ ¢

Options :
CsClL, Nal

LiCl. KI
il C8E

LiF. Csl
4.9

Question Number : 32 Question Id : 5471143932 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The structure of diborane contains
25708 Gng) Aouwos® DA BOA sotnod

Options :



Four 2¢-2e bonds and two 3¢-2e bonds

Teeni 2¢-2e pofpren nicdn Both 3c-2e opren
1.V

Two 2¢-2e bonds and two 3c-2e bonds

Boty 2c¢-2e opren 0dcin Totd 3c-2e pogren

Two 2¢-2e bonds and four 3¢-2e bonds

Bo& 2c¢-2e popren 08 Trenid 3c-2e aorren
3. %

Five 2¢-2e bonds and two 3¢-2e bonds

0t 2¢-2e sogren 080w Boty 3c-2e mogren

Question Number : 33 Question Id : 5471143933 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Straight chain silicones are obtained from

B8 P08 208550 S08 Srodedmron
Options :

(C’Hg ) SiCl
(CHs)z SiCl»

CH;SiCls

(CHz)4S1

Question Number : 34 Question Id : 5471143934 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The first noble gas compound prepared is

I Sartdng Sad mE $iygso



Options :

XePtFs
1.V

XE‘Fq
XeOF4

XeF2

Question Number : 35 Question Id : 5471143935 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which of the following ions d-d transition s not possible
Bod eargs® d-d $6588 F&o A

Options :

T
1.¢

c
Mn™

Ci™?

Question Number : 36 Question Id : 5471143936 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

[UPAC name of Nas [Ag(S203)2 ] 1s:
Naz [Ag(5203); | Bw&) TUPAC mrsodn
Options :
Trisodium dithiosulphato argentite (I)

8 Mhaho BERIBYS® ©BoBE (I)

1. %



Sodium bis (thiosulphato) argentite (I)
A&avo IS (HAPIBYE’) ©BoBE (1)

Sodium Tris (thiosulphato) argentite (I)
Mdabo BS (BArIB)E°) ©BoBeS (1)

Sodium bis (thiosulphato) argentite (IV)
A&avo S (BAFITYE’) ©BoBE (IV)

Question Number : 37 Question Id : 5471143937 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The species having tetrahedral shape is

SHERD e BOA &0

Options :

Ni (CO)4
1v

[ Ni (CN); >

[PACL >

[ PA(CN)s >

Question Number : 38 Question Id : 5471143938 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a hard acid?
Bod B8S® K wipsn H6?
Options :

L



Cu’

2. %
Ag®
3. %
Au”
4. %

Question Number : 39 Question Id : 5471143939 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘When back-donation from metal to CO in metal carbonyl increases. then
DS ERYISS® 8o Hod CO B I8 Joo¥o DOASHE, 0D
Options :
Both M - C and C = O bonds become stronger

M - C 08am C = 0 ogren Bolr ed8aE° o

Both M - C and C = O bond lengths become shorter
M-Cpdow C =0 208 Qgém@ Botr e‘ﬁfé@“w

2. %

M - C bond becomes stronger and C = O bond becomes weaker

M - C 2080 20Htéod 58 C = 0 2odo aeirddddod

Both M - C and C = O bond lengths become longer
M-C8dw C =0 208 Qgé‘a’m@ Bokr aé)éé ) T°ON

Question Number : 40 Question Id : 5471143940 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Hyperconjugation involves overlap of the following

e8docknrimn & (ol edarRd SOA Gotood.

Options :



1. %

it
2.9

i
3. %

T-T
4. %

Question Number : 41 Question Id : 5471143941 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

CHs-C—CH:-CHas+ HCl-3 X X 15
|
CHs3
CH;-C=CH-CH3 + HC1 —» X: X & ®dosod

|
CH;

Options :
2-chloro-3-methyl butane
- 2-5'6°-3-03& angBS
1.¢
1-chloro-3-methyl butane
1-8°6°-3-3S angBS

2. ®

2-chloro-2-methyl butane

2-86°-2 0gS angsS

2-chloropentane

2-8652085



Question Number : 42 Question Id : 5471143942 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Marsh gas mainly contains
Do Tedind (Dordore DA &otnod

Options :
C,Hs

CH4
H->S

cO

Question Number : 43 Question Id : 5471143943 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the smallest aromatic species?
Bob T8S° 08 05 sB°Er8E =8 267
Options :
Cyclopropene
2 @S
1 %
Cyclopropenyl cation
EDEDHIS BeoaieS
2.
Cyclopropenyl anion
DEEHRS @SSRS
3. %
Cyclobutadiene

S trR &S

B ¥



Question Number : 44 Question Id : 5471143944 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

R - X+ AgCN — Main product
The main product 1s:
R-X+AgCN — 558 6887

Options :
R-CN

R_-i 2

Question Number : 45 Question Id : 5471143945 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Reimer - Tiemann reaction introduces the following functional group on phenol

5508-E58 585 SR Bob (B DrmirEnd D856,

Options :
-CHO
-COOH

2. %

-CN

3.8
-NC

4. %

Question Number : 46 Question Id : 5471143946 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The compound that will not give iodoform on treatment with alkali and iodme is
Bob Hay¥so B Db e@rES & S5E° o& PG DB)BSD.

Options :
Acetone

e2eS

Ethanol

2B S

Diethyl ketone
23S 8¢°S

3.¢

Isopropyl alcohol
OPErRd esepid

4. &

Question Number : 47 Question Id : 5471143947 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Barbituric acid is obtained by the reaction of
2r8)en08 eipo Bob PR S8 TRTE WG,
Options :
Diethyl malonate and iodine

BuRS HE°IE5 Hbein eBrES

1. %

Diethyl malonate and urea

2338 HEPIES Kb dhrbITP
2.¢

Ethyl cyanoacetate and urea

385 DO 2TV HbcsH cHFOAR



Ethylacetoacetate and urea

23S 0 VEET S0 credasr

4. %

Question Number : 48 Question Id : 5471143948 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following reaction does not produce amine?
Bob B O BT; S AEYESHH?
Options :
Gabriel synthesis
eHochS Hodses
1. %
Hoffman bromide reaction

5] (BPDE S5

Carbylamines reaction

=S IS 385

Mendius reaction

Holche 15{55

Question Number : 49 Question Id : 5471143949 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acidic property is shown by
e5) Degrso EOANGG
Options :
Pyrrole

2685

1.



Furan

7{;}%@5

2. %

Thiophene

BB DR

Pyridine
lalats)

Question Number : 50 Question Id : 5471143950 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following amino acids contain indole group

Bob 0T wipes® a0&’S KBl 50A a0.

Options :
Tryptophane
GRS

1. ¢
Histidine
2285

[]

2. %

Alanine
BOIS

3. %

Leucine
@%%5
4. %

Question Number : 51 Question Id : 5471143951 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example of an emulsion is

63&&315 Goo) GTrePdn



Options :
Smoke

e

Mist
PRS0

Lather

NNSle ]!

Milk

4.¥

Question Number : 52 Question Id : 5471143952 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Epsom salt 1s

AR oo oS
Options :
MgS04.2H,0
BaS04.2H>0O

CaS04.5H>0

MgSO04.7H,0

Question Number : 53 Question Id : 5471143953 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which one of the following is a characteristic of physical adsorption?
Bob Bt D8 Fas ko @) oFeso?
Options :
High enthalpy of adsorption
8885690 &E:oég (Tt JDES“E)O}

1. %
Highly specific
5008 DONRHE

2. % e SBE
Mono layered
D &r5 EORSE

3. %

Low activation energy

| SE (Basrdel ¥8
4.9

Question Number : 54 Question Id : 5471143954 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example of a colligative property is
Berred 8008 eorerdes_
Options :

Boiling point

80 o
1%
Freezing point
PSS o
2. %

Osmotic pressure

(S8 Hi5bo



Vapour pressure
5
ers) R0
4. % E

Question Number : 55 Question Id : 5471143955 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cell potential becomes equal to E°? when
$oto PBYEHS pe E° 8 S0 ook
Options :
Equilibrium constant is 1

‘éé}@”@é moroso 1
1.¢ -

Equilibrium constant is 10

?\’Jéﬁ"@é E{gcﬁoéo 10

Equilibrium constant is 100

ﬁaﬁ:ﬁ"@é ?‘gcﬂoéo 100

Equilibrium constant is 1.1

ﬁé}ﬁ”@é E’gcﬁoéo £
4. %

Question Number : 56 Question Id : 5471143956 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For a second order reaction. the time required for half change is

So&a) (Baros 56555'5 Qdio o7y DB BHIBIR DePADo

Options :
Directly proportional to the initial concentration

PS50 HrEss wssbhrdarsos® dotnod.



Independent of the initial concentration

Qe ) SPORED

Inversely proportional to the initial concentration

(808 HrEssH IStSrrsost Gotnod

Inversely proportional to the square of the mitial concentration

@r0g $rid SR8 DStErErEes® Gotnob.

Question Number : 57 Question Id : 5471143957 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A fall in temperature of an ideal gas is noticed during
S8 D) ¥ SPHSS® H850 _ SHahod® HosSathEod
Options :
Adiabatic compression

ol 58 B80S

1. %
Adiabatic expansion
odcsrer&E Ddes

2.

Isothermal expansion
a:&?ﬁcéééé DdGes

3. %

Isentropic contraction
0 oEHE Kostso
4. %

Question Number : 58 Question Id : 5471143958 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The reaction rate constant can be defined as the rate of reaction when each
reactant’s concentration is

Soeg e JoPoEEH @I @ SEE° (B8 Boiratgd FrEs ©ONBHPE &
ST Téw

Options :
Zero

Double the mitial concentration

|PB08 HrEsH [Slalety)

Infinite

950680

Question Number : 59 Question Id : 5471143959 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the stereochemical relationship between the following two molecules?

(Bob Botd wewhe BDBH BIPcHHE HSomoo HA?

Cl
H3CH2C
Hs CHzCH3
a
H3

Options :



Geometrical isomers

BB ﬁﬂcﬁgaﬂéw

Enantiomers

SBErIen

Diastereomers

KRBT

Identical

Qa3edsinen
4.9

Question Number : 60 Question Id : 5471143960 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Asymmetric stretching vibration of CO»
CO2 @), @578 Fr8S Sodso

Options :
Raman mactive and IR active

T8 JgPod Hocs» IR Basrde

1.V

Raman active and IR active

oosos (Bosrde Sobai IR (Boirde

Raman active and IR inactive

o508 (Bosrde Hbaim IR Jgycd

Both Raman and IR inactive

oS 080k IR Qo



Question Number : 61 Question Id : 5471143961 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following alkali metals is the most electropositive
Bob TUE° ©BE &5 DTG SE BOAS 58 Sosm

Options :
K

Na
Cs

RDb

Question Number : 62 Question Id : 5471143962 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The structure of IF7 is

1E7 :ﬂmé& Dcsﬂéeam
Options :
Octahedral

@% B0

Trigonal bipyramid

BghRchH Bsdrargsedo

Pentagonal bipyramid

wossehdah &5&?@5@60

Tetrahedral
SEVPEEY



Question Number : 63 Question Id : 5471143963 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The 1on which is iso-electronic with CO is
CO & 5% o8 wawd ©AErS
Options :

O

Question Number : 64 Question Id : 5471143964 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The atomic radii of the second and third transition series are almost same due to

Bo&S KB HreES HBSES (BB Swresre HESme TFPEEw SIS0 SotHhH

e se8e0.
Options :
Filled d - orbital
QoY d 08¢ )
1. %
Actinide contraction
w838 Kos°Skm
2. %
Lanthanide contraction

oroFRE B8PS
3. ¢



Radioactive nature

SARrere)s Jeardn

4. %

Question Number : 65 Question Id : 5471143965 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

RMgX + CO» > X. X =2

Options :

Alcohol
E—Bﬂ}éﬁé

Carboxylic acid

snuﬁaﬁjﬁig &30

Aldehyde

&2l
Cs O

Ketone

8¢5

Question Number : 66 Question Id : 5471143966 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Metal carbonyls are coordinate complexes of transition metal with

&85 R 3Sen S HIEE HB58S e Bodn HanFren
—0 ~TEd é)

Options :
N->O
1. %
H:S



CcO

NO

Question Number : 67 Question Id : 5471143967 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Anaemia is due to deficiency of

Bob S°050 Hob ©ADAF B0,

Options :

n*"

Question Number : 68 Question Id : 5471143968 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary valency of chromium in Kz [Cr(CN)s] 1s
K3 [C1(CN)g] &° §°ncho ¥ 8 89

Options :
1

3



Question Number : 69 Question Id : 5471143969 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

EDTA 15 ------- Ligand

Options :
Tridentate

BaIE

Hexadentate

E T

Bidentate
BORES
e 5]

Monodentate
a:osﬁages

Question Number : 70 Question Id : 5471143970 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The doped element in semiconductor acts as
©f DigS K0S G700t Suredin Bod o HATKRO..
Options :
Bridge band
66 58
1.
Valence band

TBR) ?’.J'%

2. %



Conduction band

ToSE 3’3%
3. %
Vacant band
a8 2é
{5 ]
4. %

Question Number : 71 Question Id : 5471143971 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The hexagonal unit cell 1s defined by

ﬁéﬁegfea (B377es Beaadn & S8 PO ABLEIoIDEND.
Options :

a=b=c a=p=y=90°

1%

azb=c a=p=y=90"
2. %

a=bzc, a=p=90°
3.

a=b=zc a=p=y=90°
4. %

Question Number : 72 Question Id : 5471143972 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most stable cation amongst the following is
Bob VS o968 JBE0 EOAS SP0irS

Options :

({:"Hg }3(."+
1.

Ce¢HsCH>



C Hz
CH_;HS

Question Number : 73 Question Id : 5471143973 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Primary alcohols undergo ------ reaction to form alkenes
B85 weptsen (Bod 38 e ed)ipvets D BRaw.
Options :
Oxidation

@g{béiﬁmm

Reduction

B8 easin

Addition
HoBenamn

elimination

& ofon) éd@

Question Number : 74 Question Id : 5471143974 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Relative basic strength of amines does not depend upon

oPRo PO TEFHEED O STEHED.

Options :
Steric effect
BD0HH (Heressdm



Mesomeric effect

- SoBRBE (Herdsm
2.

Inductive effect

(B85 (Herdsn

Stabilization of cation by hydration

s(88BmEn TTe SHarS RS0

Question Number : 75 Question Id : 5471143975 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct order for basic features of a mass spectrometer is
(Be550°8 58He SG BE) (BFPR ofere SOFD wHds
Options :
Acceleration, deflection, detection. ionisation

S Beasim, JFDo, HYoBL, wcHlBEBe0

1. ®

Tonisation. acceleration. deflection. detection
echdESwo, Ebensn, HEDo, HBoHe

2.9
Acceleration. 1onisation. deflection. detection

SBeasin, ©cHAEBEs0, gD, HBoSE

Acceleration. deflection. ionisation. detection

SBeasin, VBHo, wdHIELe0, HOOSE

Question Number : 76 Question Id : 5471143976 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is a permanent electron displacement effect?
Bobd TS TS JolgS FIod (Heessm
Options :
Electromeric
oE0E
1. %
Inductive
(2OHE5w
2.¥
Elimination

&oho)

Resonance

€930 P ESI0

Question Number : 77 Question Id : 5471143977 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most mtense peak in the mass spectrum is called

BHB0°8 BEHL068° ©0ps BB Bpdsm

Options :
Base peak

SGrS D8 Bpdsm
LV
Meta stable ion peak

Botr Jaod odirs Bpdin

2. ®

Fragmentation peak

POLN BpBadn

3. %



Rearrangement peak

(28eN0E Bpdain

4. %

Question Number : 78 Question Id : 5471143978 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

alc.koH

CH;3;-CH;-CH-CH; ——— A A =?

Cl
Options :

CH;-CH>-CH=CH:

CH;-CH>-CH-CHz3

|
OH

CH;-CH=CH-CH;

CH:CH>-CH;-CH>OH

Question Number : 79 Question Id : 5471143979 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In cannizaro reaction the aldehyde gives
8B $656° Pl DS
Options :
Primary alcohol

55 eeptd



Carboxylic acid

Sﬂuﬁa}%&@g 9350350

Primary alcohol and alkene

D5 wepstd Hodn sd)S

Carboxylic acid and primary alcohol

=03 8108 epo Sddn (BEH weopPs

Question Number : 80 Question Id : 5471143980 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An example of keto hexose 1s

86 EED et

Options :
Maltose
SetS

[

1. %

Fructose

oS
2.¢

Mannose

émﬁilé

3. %

Glucose
Kpets
4. %

Question Number : 81 Question Id : 5471143981 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The end product of the following reaction is

cly alc.KOH
CH; CH, COOH X 59
red P

Bod SBE* QL0 e [w

cly alc.KOH
CH; CH, COOH = = 5 )
red P
Options :
CH; CH COOH
OH
1. %

CH:; CH, COOH

OH
2. %
~ CH,=CHCOOH
3.¢
CH, -CH COOH
|
OH Cl
4. %

Question Number : 82 Question Id : 5471143982 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of Pc interms of vander waals constant a. b 1s
oibaed ?gcﬁboéa'm a.be Hdorre Pc Dend

Options :
8a

27R,




27b?
2.¢
3b
3. %
27Rs
4. %

Question Number : 83 Question Id : 5471143983 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Vander walls equation state for ‘n’ moles of a gas 1s
1 Jrdeo N @) Trolbard HlEbnkn

Options :

P+ Z| (v-nb) =nRT

1. ®
n’a N
2.
|P+ 2| (v-b)=RT
3.8
na
[P v E] (V — b) = nRT
4. %

Question Number : 84 Question Id : 5471143984 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

P-type semiconductors are formed when Si or Ge are dopped with

Si 8o Ge 0 (80b Sroses® &0l SB[ P-88o efmrirsw a8)karon.

Options :



Group 15 elements

e 15 Sorersrten

1. %
Group 17 elements
& 17 sorerseen
2. %
Group 18 elements
X e 18 Saresrten
LR
Group 13 elements
e 13 Saresren
4.9

Question Number : 85 Question Id : 5471143985 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The degree of dissociation of weak electrolyte increases as
Bob S0 Hod petrd DebgE P Eng) DN Fow BBHHD.
Options :
Dilution increases

DONEGm0 DORS S

1.V
Dilution decreases
DOEBe0 SABGHPE

2. % 9
Pressure increases
D550 DOADHPE

3. %

Dilution remains constant

DOEG0 Qo aHRPSH



Question Number : 86 Question Id : 5471143986 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The eutectic composition of Pb-Ag system 1is

Pb-Ag #5855 @og) oBEE &rdy) / ey (5056 &)

Options :
50% Pb and 50% Ag
50% Pb 805w 50% Ag

1. %
80% Pb and 2.0% Ag
80% Pb s08asw 2.0% Ag
2. %
97.4% Pb and 2.6% Ag
97.4% Pb 508c5» 2.6% Ag
3.¢
70.4% Pb and 29.6% Ag
70.4% Pb 506050 29.6% Ag
4. %

Question Number : 87 Question Id : 5471143987 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Units of equivalent conductance 1s
Hego8 DS TPFPESD (Hreasin
Options :

ohm™ c¢cm? mol™

1. %
S |
ohm cm” eq
2. %
ohm™ cm” eq?
3.

ohm™ cm’ mol.



Question Number : 88 Question Id : 5471143988 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A first order reaction has specific rate constant of 2 per minute. The half-life of the
reaction is
(855 (ELrol S8y @) Ten Jorossn 2 / ALK oS’ & 58 ©BEDS sreokn
Options :
3 min

3 Adpaisdnen

4 min

4 D p3snen

0.734 min

0.734 aodzmwen

0.347 min

0.347 Qdnsmen

Question Number : 89 Question Id : 5471143989 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In four experiments with the same objective, the values obtained are very nearer to
each other. These values can be called.

&8 oF0 o TPenid BBrres® SIS Jenden eErIETES orer SRS T30

ondSt & Dended e0e80.
Options :
Accurate

PINSST0

l. %



Precise

QED)Beasn

Average

ESTatonn]

Invalid

SIS

Question Number : 90 Question Id : 5471143990 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Raoult’s Law is represented by

6"@%’? NoDHX0 o Mwiowod

Options :
Pob—P 1
B, ~ N+n
1.V
Po+P n
P{} n+ N
2. %
Phb+P N
P, n+N
3. %
Bp—F  h
P n+N
4. %

Question Number : 91 Question Id : 5471143991 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The entropy of the universe is always tending towards

D0 BwE) JolF'e S BT [Eos® etrbEiod.

Options :



Maximuimn

55D
Minimum
@@;m
2. %
Zero
%Jvééa'm
3. %
Remains constant
DG Gnd
G o ok
4. %

Question Number : 92 Question Id : 5471143992 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The efficiency of reversible heat engine is

6 yenS 2reS BoRS PoYsw

Options :
1 _h
T,
1. #
1- 2
Ty
2.¥
Ty
i
3.0%
Ty
Iz
4. %

Question Number : 93 Question Id : 5471143993 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



According de-Broglie’s hypothesis the wave length of matter particle (electron) in
motion is

& (%O 08e)d (Bsebo Ethendd) JPY Ko () B EBor B,

Options :
h

mrv
1.

h

C
2. %

mC?
3.8

(&

h
4. %

Question Number : 94 Question Id : 5471143994 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In CO molecule, the electrons in the bonding molecular orbitals are close to

CO eenHS® 2108 eem @Eﬁa}&?%@s QE@;&M &8 5§érw S0EPo0.

Options :
O

1.V

Both C and O

2. %
C
3. %
No distortion
58880 Bt
4. %

Question Number : 95 Question Id : 5471143995 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The magnetic nature of NO molecule is

NO e @) edhamod Kugrssn

Options :

Para magnetic

PO ADI0S
1.V
Diamagnetic
afovsiteplel:
2. %

Ferro magnetic

P& ochrod

Both Dia and Ferro magnetic

Eir Ho8akn E° wchFed

4. %

Question Number : 96 Question Id : 5471143996 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many optical isomers are possible for the following compound?

Bod Sip¥ssns Ko (e Fgzegen

OH

H.C
CH,

oH

Options :
4

2.¥



Question Number : 97 Question Id : 5471143997 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following does not comes under the chemical method of quantitative
analysis?
Bob TRUE® HOIrerE SRS DFKes (BoBD TB

Options :
Gravimetric

PSS QBN

1. %
Magnetic susceptibility
R Tosvinplel M gtens feod
2.¢
Volumetric
e [ HdBosradE dges
3. %
Titrimetric
©0I5PNE DEes
4. %

Question Number : 98 Question Id : 5471143998 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Identify the test which is not a part of qualitative analysis.
Koerd)s DEHed” Ko S0
Options :
Todine test

oBreS 5628

Ly



Flame test

e HOK
2. %
Litmus test
0eyS 6§,
Kastle-Meyer test
RS - babb HOF,
4. %

Question Number : 99 Question Id : 5471143999 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

For rejection of result. the test used is

$O8 8BS sS@rHoT HOF

Options :
Q- test
- Q-oﬁg
T-test
T—a’}ﬁg
2. %
F-test
F-5638
3. %

T-Test and F-Test
T——&ég So8as0 F-—ééﬁ

Question Number : 100 Question Id : 5471144000 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The difference between the average value and the value obtained in individual
determinations is known as
Srien Vet KBRS ABH endeH HEyie 50
Options :
Deviation

L SLdeeio

Random

cﬁpde}{’.]géo

Precise

DO Beasdn

Accuracy

CENSE



